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INSTRUKCE 

Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C) a (D), z nichž pouze JEDNA je 

správná. Svoji odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 

odpověď změnit, křížkem škrtněte původní a vedle zapište novou tak, aby změna byla zcela jasná a 

nezpochybnitelná. Správná odpověď se hodnotí jedním bodem, žádná nebo nesprávná odpověď 

žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na vypracování testu máte 15 minut. 

Při testu nelze používat žádné materiály ani elektronická média.  

 

Choose the best option. 

 

1. You .......... buy any sugar. I think we have enough left. 

(A) needn’t to (B) haven’t to (C) don’t have (D) don’t need to 

 

2. He often .......... clever things but what he ………. now is just nonsense.      

(A) is saying … says          (C) says … is saying  

(B) say … is saying                (D) says … are saying  

 

3. He took the phone and threw it .......... the water. 

(A) into (B) on (C) under (D) over 

 

4.  When the phone ………. , I .......... my hair. 

(A) rang ….. were drying        (C) rang ….. was drying  

(B) was ringing ….. dried (D) rang ….. dried 

 

5. .......... this book. It’s horrible.   

(A) Not read (B) You don’t read (C) Don’t read (D) Read not 

 

6. I think I’ll close the window. He .......... the violin. 

(A) is practising  (B) practises (C) practise (D) practising 
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7. What .......... with the lottery money?  

(A) will do                                 (C) is you doing  

(B) are you going to do                            (D) are you going do 

 

8. Can I have .......... information about concerts please? 

(A) an                       (B) a    (C) some  (D) a few 

 

9. .......... in class on time?  

(A) Is always your teacher               (C) Is your teacher always   

(B) Always is your teacher               (D) Always your teacher is 

 

10. Kate goes dancing .......... Mondays. 

(A)  on  (B) each (C) every (D) at 

 

11. A “technophobe” is someone .......... is scared of technology. 

(A) which (B) who (C) where (D) whose 

 

12. You .......... slimmer if you didn’t eat so much. 

(A) would be  (B) are  (C) were (D) will be 

 

13. Sylvia is one of .......... practical people I know. 

(A) most  (B) more   (C) less (D) the least 

 

14. I ………. with Tom last Wednesday and he says you .......... him for months. 

(A) have talked … haven’t visited (C) talk … visited  

(B) have talked … didn’t visit      (D) talked … haven’t visited 

 

15. I won’t understand if she .......... Japanese to me. 

(A) speak (B) would speak (C) speaks (D) will speak 

 

16. I didn’t have enough money. Neither .......... I. 

(A) have  (B) had  (C) do    (D) did 

 

17. Salaries .......... much lower. 

(A) use to be (B) used to being (C) used be (D) used to be 

 

18. I’d prefer .......... in a restaurant today. 

(A)  to eat (B) eat (C) eating (D) ate 

 

19. The customs officer .......... our suitcases. 

(A) made to open (C) made us opening  

(B) made us open (D) made us to open
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20. She’s going to university .......... her studies. 

(A) for continuing  (C) continue     

(B) for continue                                   (D) to continue 

 

21. Can I ........ €10, John? I’ll pay you back next week. 

(A) lend (B) borrow (C) lent (D) owe 

 

22. In June, sales .......... from 250,000 to 260,000 units. 

(A) went down (B) increase (C) decreased (D) went up 

 

23. I was in London on a business .......... . 

(A) trip  (B) way (C) track (D) journey 

 

24. They’ve lowered the price of the product because the average customer .......... it.   

(A) can afford (B) can’t afford  (C) can to afford (D) doesn’t afford 

 

25. This company is one of our biggest .......... . 

(A) advertising (B) advertisers (C) advertise  (D) advertisements 



KLÍČ – VARIANTA: 1315 

 

1. (D) 

2. (C) 

3. (A) 

4. (C) 

5. (C) 

6. (A) 

7. (B) 

8. (C) 

9. (C) 

10. (A) 

11. (B) 

12. (A) 

13. (D) 

14. (D) 

15. (C) 

16. (D) 

17. (D) 

18. (A) 

19. (B) 

20. (D) 

21. (B) 

22. (D) 

23. (A) 

24. (B) 

25. (B) 
 


